

## **ABC Bid Data**

**ELLSWORTH** 40874 X-A004(514)

PROJECT: **ELLSWORTH** 

**STATE PROJECT NUMBER: 40874** 

LOCATION:

FED. PROJECT NUMBER: X-A004(514) **DATE BIDS OPEN:** February 21, 2019,

SCOPE OF WORK: Improve Stinson Lake Road in the Town of Ellsworth, NH, within the WMNF, from

Rumney to trailhead

**COMPLETION DATE:** August 09, 2019

Grafton

Awarded To: LATULIPPE CONSTRUCTION,

M.E.

Award Date:

979 Rumney, Route 25 Rumney, NH 03266

Amount: \$521,121.40 Certified by: PETER.E.STAMNAS

Director of Project Development

## **Summary of Bidders**

Contractor	Bid Amount	Rank
LATULIPPE CONSTRUCTION, M.E.	\$521,121.40	Α
979 Rumney, Route 25, RUMNEY NH 03266		
JEREMY HILTZ EXCVATING INC	\$698,521.00	В
859 Lake St, BRISTOL NH 03222		

				F	°S&E	979 Rum	NSTRUCTION, M.E. ney, Route 25 y, NH 03266	859	Z EXCVATING INC Lake St , NH 03222
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

## **Items**

201.1	CLEARING AND GRUBBING (F)	A	1.10	\$16,000.00	\$17,600.00	\$3,000.00	\$3,300.00	\$7,500.00	\$8,250.00
201.21	REMOVING SMALL TREES	EA	5.00	\$475.00	\$2,375.00	\$250.00	\$1,250.00	\$400.00	\$2,000.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	95.00	\$15.00	\$1,425.00	\$5.00	\$475.00	\$10.00	\$950.00
202.7	REMOVAL OF GUARDRAIL	LF	130.00	\$1.60	\$208.00	\$4.50	\$585.00	\$10.00	\$1,300.00
203.1	COMMON EXCAVATION	CY	6,030.00	\$10.00	\$60,300.00	\$8.00	\$48,240.00	\$10.00	\$60,300.00
203.2	ROCK EXCAVATION	CY	30.00	\$90.00	\$2,700.00	\$50.00	\$1,500.00	\$150.00	\$4,500.00
203.55552	GUARDRAIL EAGRT OFFSET PLATFORM ALTERNATE, TL 2	U	1.00	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	640.00	\$5.85	\$3,744.00	\$6.00	\$3,840.00	\$10.00	\$6,400.00
206.1	COMMON STRUCTURE EXCAVATION	CY	790.00	\$18.00	\$14,220.00	\$8.00	\$6,320.00	\$20.00	\$15,800.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$25.00	\$250.00	\$30.00	\$300.00	\$20.00	\$200.00
206.2	ROCK STRUCTURE EXCAVATION	CY	25.00	\$70.00	\$1,750.00	\$50.00	\$1,250.00	\$200.00	\$5,000.00
209.1	GRANULAR BACKFILL	CY	155.00	\$26.00	\$4,030.00	\$14.00	\$2,170.00	\$20.00	\$3,100.00
214.	FINE GRADING	U	1.00	\$13,500.00	\$13,500.00	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00
214.81	SCARIFYING AND INITIAL GRADING	SY	6,550.00	\$4.30	\$28,165.00	\$0.90	\$5,895.00	\$1.00	\$6,550.00
304.201	GRAVEL	CY	875.00	\$42.00	\$36,750.00	\$19.50	\$17,062.50	\$35.00	\$30,625.00
304.31	CRUSHED GRAVEL FOR SHIMMING	CY	820.00	\$30.00	\$24,600.00	\$21.00	\$17,220.00	\$48.00	\$39,360.00
304.35	CRUSHED GRAVEL FOR DRIVES	CY	25.00	\$56.00	\$1,400.00	\$25.00	\$625.00	\$50.00	\$1,250.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	990.00	\$70.00	\$69,300.00	\$90.00	\$89,100.00	\$91.00	\$90,090.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	15.00	\$140.00	\$2,100.00	\$135.00	\$2,025.00	\$130.00	\$1,950.00
403.6	PAVEMENT JOINT ADHESIVE	LF	6,575.00	\$1.50	\$9,862.50	\$0.70	\$4,602.50	\$0.40	\$2,630.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	235.00	\$3.50	\$822.50	\$5.00	\$1,175.00	\$5.00	\$1,175.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$5,780.00	\$5,780.00
508.	STRUCTURAL FILL	CY	12.00	\$55.00	\$660.00	\$30.00	\$360.00	\$40.00	\$480.00
520.01	CONCRETE CLASS AA	CY	32.00	\$840.00	\$26,880.00	\$875.00	\$28,000.00	\$1,500.00	\$48,000.00
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	8.00	\$500.00	\$4,000.00	\$875.00	\$7,000.00	\$800.00	\$6,400.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	2.00	\$110.00	\$220.00	\$25.00	\$50.00	\$50.00	\$100.00
544.1	REINFORCING STEEL (ROADWAY)	LB	3,725.00	\$1.25	\$4,656.25	\$0.62	\$2,309.50	\$2.00	\$7,450.00
585.2	STONE FILL, CLASS B	CY	120.00	\$28.00	\$3,360.00	\$30.00	\$3,600.00	\$54.00	\$6,480.00
585.3	STONE FILL, CLASS C	CY	580.00	\$30.00	\$17,400.00	\$28.00	\$16,240.00	\$50.00	\$29,000.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	210.00	\$4.00	\$840.00	\$1.00	\$210.00	\$4.00	\$840.00
		_		_				_	

					PS&E	LATULIPPE CC 979 Rum Rumne	ONSTRUCTION, M.E. uney, Route 25 uney, NH 03266	JEREMY HILTZ EXCVATING INC 859 Lake St Bristol, NH 03222	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	2,235.00	\$2.00	\$4,470.00	\$0.90	\$2,011.50	\$3.00	\$6,705.00
603.0001	VIDEO INSPECTION	LF	390.00	\$2.50	\$975.00	\$3.00	\$1,170.00	\$3.00	\$1,170.00
603.00212	12" R.C. PIPE, 2000D	LF	40.00	\$50.00	\$2,000.00	\$30.00	\$1,200.00	\$70.00	\$2,800.00
603.33218	18" CORR. POLYETHYLENE END SECTION	EA	6.00	\$150.00	\$900.00	\$200.00	\$1,200.00	\$363.00	\$2,178.00
603.33224	24" CORR. POLYETHYLENE END SECTION	EA	1.00	\$175.00	\$175.00	\$250.00	\$250.00	\$466.00	\$466.00
603.80215	15" PLASTIC PIPE (SMOOTH INTERIOR)	LF	70.00	\$30.00	\$2,100.00	\$9.00	\$630.00	\$53.00	\$3,710.00
603.80218	18" PLASTIC PIPE (SMOOTH INTERIOR)	LF	112.00	\$32.00	\$3,584.00	\$13.50	\$1,512.00	\$58.00	\$6,496.00
603.80224	24" PLASTIC PIPE (SMOOTH INTERIOR)	LF	180.00	\$38.00	\$6,840.00	\$20.00	\$3,600.00	\$65.00	\$11,700.00
603.80248	48" PLASTIC PIPE (SMOOTH INTERIOR)	LF	60.00	\$75.00	\$4,500.00	\$64.00	\$3,840.00	\$115.00	\$6,900.00
604.1941	SPECIAL CATCH BASIN TYPE G, 4 FT DIAMETER	U	4.00	\$2,300.00	\$9,200.00	\$2,500.00	\$10,000.00	\$3,200.00	\$12,800.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	1.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00	\$2,750.00	\$2,750.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$535.50	\$535.50	\$850.00	\$850.00	\$850.00	\$850.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	137.50	\$16.50	\$2,268.75	\$28.50	\$3,918.75	\$30.00	\$4,125.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	350.00	\$35.00	\$12,250.00	\$41.00	\$14,350.00	\$45.00	\$15,750.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$4,775.00	\$9,550.00
615.0301	TRAFFIC SIGN TYPE C	SF	48.25	\$150.00	\$7,237.50	\$50.00	\$2,412.50	\$28.00	\$1,351.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	5.00	\$35.00	\$175.00	\$50.00	\$250.00	\$100.00	\$500.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	2.00	\$280.00	\$560.00	\$75.00	\$150.00	\$125.00	\$250.00
615.0601	TRAFFIC SIGN TYPE CC	SF	10.38	\$20.00	\$207.60	\$55.00	\$570.90	\$28.00	\$290.64
618.7	FLAGGERS	HR	640.00	\$25.00	\$16,000.00	\$34.00	\$21,760.00	\$38.00	\$24,320.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$18,000.00	\$18,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$4.75	\$47.50	\$8.00	\$80.00	\$6.00	\$60.00
621.31	SINGLE DELINEATOR WITH POST	EA	100.00	\$35.00	\$3,500.00	\$48.00	\$4,800.00	\$55.00	\$5,500.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$50.00	\$100.00	\$55.00	\$110.00	\$60.00	\$120.00
622.1	STEEL WITNESS MARKERS	EA	18.00	\$30.00	\$540.00	\$40.00	\$720.00	\$40.00	\$720.00
645.3	EROSION STONE	TON	105.00	\$45.00	\$4,725.00	\$22.00	\$2,310.00	\$35.00	\$3,675.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	8,800.00	\$1.80	\$15,840.00	\$1.50	\$13,200.00	\$2.10	\$18,480.00
645.472	TEMPORARY CHANNEL MATTING TYPE B	SY	925.00	\$9.00	\$8,325.00	\$1.25	\$1,156.25	\$2.00	\$1,850.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,300.00	\$5.00	\$11,500.00	\$3.50	\$8,050.00	\$5.00	\$11,500.00
645.531	SILT FENCE	LF	2,100.00	\$3.00	\$6,300.00	\$3.00	\$6,300.00	\$3.00	\$6,300.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00

				PS&E		979 Rum	ONSTRUCTION, M.E. ney, Route 25 y, NH 03266	JEREMY HILTZ EXCVATING INC 859 Lake St Bristol, NH 03222	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	120.00	\$70.00	\$8,400.00	\$65.00	\$7,800.00	\$68.00	\$8,160.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	8,800.00	\$1.50	\$13,200.00	\$0.60	\$5,280.00	\$0.55	\$4,840.00
647.1	HUMUS	CY	735.00	\$30.00	\$22,050.00	\$21.00	\$15,435.00	\$20.00	\$14,700.00
670.046	CONSTRUCT AND REMOVE TEMPORARY WIDENING	U	1.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$18,000.00	\$18,000.00
692.	MOBILIZATION	U	1.00	\$48,000.00	\$48,000.00	\$60,000.00	\$60,000.00	\$36,494.36	\$36,494.36
698.14	FIELD OFFICE TYPE D	MON	4.00	\$1,600.00	\$6,400.00	\$1,000.00	\$4,000.00	\$2,500.00	\$10,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00

Totals:	\$630,974.10	\$521,121.40	\$698,521.00
Alt. Totals:			
Totals:	\$630.974.10	\$521.121.40	\$698.521.00



## **PS&E Comparison**

40874 X-A004(514)

				A-Bido	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.1	CLEARING AND GRUBBING (F)	А	1.10	\$3,000.00	\$3,300.00	\$16,000.00	\$17,600.00	(\$14,300.00)
201.21	REMOVING SMALL TREES	EA	5.00	\$250.00	\$1,250.00	\$475.00	\$2,375.00	(\$1,125.00)
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	95.00	\$5.00	\$475.00	\$15.00	\$1,425.00	(\$950.00)
202.7	REMOVAL OF GUARDRAIL	LF	130.00	\$4.50	\$585.00	\$1.60	\$208.00	\$377.00
203.1	COMMON EXCAVATION	CY	6,030.00	\$8.00	\$48,240.00	\$10.00	\$60,300.00	(\$12,060.00)
203.2	ROCK EXCAVATION	CY	30.00	\$50.00	\$1,500.00	\$90.00	\$2,700.00	(\$1,200.00)
203.55552	GUARDRAIL EAGRT OFFSET PLATFORM ALTERNATE, TL 2	U	1.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$150.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	640.00	\$6.00	\$3,840.00	\$5.85	\$3,744.00	\$96.00
206.1	COMMON STRUCTURE EXCAVATION	CY	790.00	\$8.00	\$6,320.00	\$18.00	\$14,220.00	(\$7,900.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$30.00	\$300.00	\$25.00	\$250.00	\$50.00
206.2	ROCK STRUCTURE EXCAVATION	CY	25.00	\$50.00	\$1,250.00	\$70.00	\$1,750.00	(\$500.00)
209.1	GRANULAR BACKFILL	CY	155.00	\$14.00	\$2,170.00	\$26.00	\$4,030.00	(\$1,860.00)
214.	FINE GRADING	U	1.00	\$6,000.00	\$6,000.00	\$13,500.00	\$13,500.00	(\$7,500.00)
214.81	SCARIFYING AND INITIAL GRADING	SY	6,550.00	\$0.90	\$5,895.00	\$4.30	\$28,165.00	(\$22,270.00)

304.201	GRAVEL	CY	875.00	\$19.50	\$17,062.50	\$42.00	\$36,750.00	(\$19,687.50)
304.31	CRUSHED GRAVEL FOR SHIMMING	CY	820.00	\$21.00	\$17,220.00	\$30.00	\$24,600.00	(\$7,380.00)
304.35	CRUSHED GRAVEL FOR DRIVES	CY	25.00	\$25.00	\$625.00	\$56.00	\$1,400.00	(\$775.00)
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	990.00	\$90.00	\$89,100.00	\$70.00	\$69,300.00	\$19,800.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	15.00	\$135.00	\$2,025.00	\$140.00	\$2,100.00	(\$75.00)
403.6	PAVEMENT JOINT ADHESIVE	LF	6,575.00	\$0.70	\$4,602.50	\$1.50	\$9,862.50	(\$5,260.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	235.00	\$5.00	\$1,175.00	\$3.50	\$822.50	\$352.50
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$3,500.00
508.	STRUCTURAL FILL	CY	12.00	\$30.00	\$360.00	\$55.00	\$660.00	(\$300.00)
520.01	CONCRETE CLASS AA	CY	32.00	\$875.00	\$28,000.00	\$840.00	\$26,880.00	\$1,120.00
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	8.00	\$875.00	\$7,000.00	\$500.00	\$4,000.00	\$3,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	2.00	\$25.00	\$50.00	\$110.00	\$220.00	(\$170.00)
544.1	REINFORCING STEEL (ROADWAY)	LB	3,725.00	\$0.62	\$2,309.50	\$1.25	\$4,656.25	(\$2,346.75)
585.2	STONE FILL, CLASS B	CY	120.00	\$30.00	\$3,600.00	\$28.00	\$3,360.00	\$240.00
585.3	STONE FILL, CLASS C	CY	580.00	\$28.00	\$16,240.00	\$30.00	\$17,400.00	(\$1,160.00)
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	210.00	\$1.00	\$210.00	\$4.00	\$840.00	(\$630.00)
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	2,235.00	\$0.90	\$2,011.50	\$2.00	\$4,470.00	(\$2,458.50)
603.0001	VIDEO INSPECTION	LF	390.00	\$3.00	\$1,170.00	\$2.50	\$975.00	\$195.00
603.00212	12" R.C. PIPE, 2000D	LF	40.00	\$30.00	\$1,200.00	\$50.00	\$2,000.00	(\$800.00)
603.33218	18" CORR. POLYETHYLENE END SECTION	EA	6.00	\$200.00	\$1,200.00	\$150.00	\$900.00	\$300.00
603.33224	24" CORR. POLYETHYLENE END SECTION	EA	1.00	\$250.00	\$250.00	\$175.00	\$175.00	\$75.00
603.80215	15" PLASTIC PIPE (SMOOTH INTERIOR)	LF	70.00	\$9.00	\$630.00	\$30.00	\$2,100.00	(\$1,470.00)
603.80218	18" PLASTIC PIPE (SMOOTH INTERIOR)	LF	112.00	\$13.50	\$1,512.00	\$32.00	\$3,584.00	(\$2,072.00)

Monday, March 4, 2019 Page 6 of 8

603.80224	24" PLASTIC PIPE (SMOOTH INTERIOR)	LF	180.00	\$20.00	\$3,600.00	\$38.00	\$6,840.00	(\$3,240.00)
603.80248	48" PLASTIC PIPE (SMOOTH INTERIOR)	LF	60.00	\$64.00	\$3,840.00	\$75.00	\$4,500.00	(\$660.00)
604.1941	SPECIAL CATCH BASIN TYPE G, 4 FT DIAMETER	U	4.00	\$2,500.00	\$10,000.00	\$2,300.00	\$9,200.00	\$800.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	1.00	\$3,000.00	\$3,000.00	\$2,100.00	\$2,100.00	\$900.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$850.00	\$850.00	\$535.50	\$535.50	\$314.50
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	137.50	\$28.50	\$3,918.75	\$16.50	\$2,268.75	\$1,650.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	350.00	\$41.00	\$14,350.00	\$35.00	\$12,250.00	\$2,100.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$0.00
615.0301	TRAFFIC SIGN TYPE C	SF	48.25	\$50.00	\$2,412.50	\$150.00	\$7,237.50	(\$4,825.00)
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	5.00	\$50.00	\$250.00	\$35.00	\$175.00	\$75.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	2.00	\$75.00	\$150.00	\$280.00	\$560.00	(\$410.00)
615.0601	TRAFFIC SIGN TYPE CC	SF	10.38	\$55.00	\$570.90	\$20.00	\$207.60	\$363.30
618.7	FLAGGERS	HR	640.00	\$34.00	\$21,760.00	\$25.00	\$16,000.00	\$5,760.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	(\$7,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$8.00	\$80.00	\$4.75	\$47.50	\$32.50
621.31	SINGLE DELINEATOR WITH POST	EA	100.00	\$48.00	\$4,800.00	\$35.00	\$3,500.00	\$1,300.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$55.00	\$110.00	\$50.00	\$100.00	\$10.00
622.1	STEEL WITNESS MARKERS	EA	18.00	\$40.00	\$720.00	\$30.00	\$540.00	\$180.00
645.3	EROSION STONE	TON	105.00	\$22.00	\$2,310.00	\$45.00	\$4,725.00	(\$2,415.00)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	8,800.00	\$1.50	\$13,200.00	\$1.80	\$15,840.00	(\$2,640.00)
645.472	TEMPORARY CHANNEL MATTING TYPE B	SY	925.00	\$1.25	\$1,156.25	\$9.00	\$8,325.00	(\$7,168.75)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,300.00	\$3.50	\$8,050.00	\$5.00	\$11,500.00	(\$3,450.00)

Monday, March 4, 2019 Page 7 of 8

645.531	SILT FENCE	LF	2,100.00	\$3.00	\$6,300.00	\$3.00	\$6,300.00	\$0.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	(\$500.00)
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	120.00	\$65.00	\$7,800.00	\$70.00	\$8,400.00	(\$600.00)
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	8,800.00	\$0.60	\$5,280.00	\$1.50	\$13,200.00	(\$7,920.00)
647.1	HUMUS	CY	735.00	\$21.00	\$15,435.00	\$30.00	\$22,050.00	(\$6,615.00)
670.046	CONSTRUCT AND REMOVE TEMPORARY WIDENING	U	1.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	(\$500.00)
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$48,000.00	\$48,000.00	\$12,000.00
698.14	FIELD OFFICE TYPE D	MON	4.00	\$1,000.00	\$4,000.00	\$1,600.00	\$6,400.00	(\$2,400.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

\$521,121.40

\$630,974.10

(\$109,852.70)

Total:

Monday, March 4, 2019 Page 8 of 8